CHAPTER 1
Scarcity, Choice, and Opportunity Costs

MULTIPLE CHOICE. Choose the one alternative that best completes the statement or answers the question.


1)
An example of a scarce good is 

A) free air. 

B) free medical care in a crowded clinic. 

C) free tumbleweeds. 

D) empty seats at a free Chicago Bulls practice. 

Answer: B 

Table 1-1
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Guns (hundreds)
1
2
3
4
5

Butter (tons)
20
18
15
10
3
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2)
Table 1-1 shows the production-possibilities frontier for the economy of Moribundity. If this economy were to produce 3 (hundred) guns and only 12 (tons) of butter, 

A) it would be operating beyond its production-possibilities frontier. 

B) it would be utilizing its resources with maximum efficiency. 

C) it would be on its production-possibilities frontier. 

D) it could utilize resources more efficiently to produce 3 more (tons of) butter without sacrificing any guns. 

E) some change in technology must have occurred relative to the data in Table 1-1. 

Answer: D 


3)
Table 1-1 shows the production-possibilities frontier for the economy of Moribundity. The opportunity cost of increasing gun production from 3 (hundred) guns to 4 (hundred) guns is 

A) 1 ton of butter. 

B) 5 tons of butter. 

C) 3 hundred guns. 

D) 7 tons of butter. 

E) 15 tons of butter. 

Answer: B 


4)
Table 1-1 shows the production-possibilities frontier for the economy of Moribundity. As this economy increases its production of guns along the production-possibilities frontier, the opportunity cost of guns 

A) first rises and then falls. 

B) rises continuously. 

C) falls continuously. 

D) remains constant. 

E) falls and then rises. 

Answer: B 


5)
An improvement in production technology will cause the production-possibilities frontier to 

A) shift outward. 

B) become more curved. 

C) become less curved. 

D) shift inward. 

E) become linear. 

Answer: A 


6)
Which of the following is correct? Resources are 

A) land, labor, the price system, and capital. 

B) the factors of production used to produce goods and services. 

C) the fundamental source of abundance. 

D) only land and labor. 

Answer: B 


7)
The production-possibilities frontier shows 

A) that production from given resources is limited. 

B) that choosing to consume one good implies sacrificing other goods. 

C) that producing more public goods reduces the available supply of private goods. 

D) the maximum production of butter given the production of guns. 

E) All of the above. 

Answer: E 


8)
The production-possibilities frontier shifts when 

A) the output of guns increases because the output of butter declines. 

B) the output of butter decreases because the output of guns increases. 

C) more public goods are traded off for fewer private goods. 

D) there is an increase in resources and an improvement in technology. 

Answer: D 


9)
According to the concept of scarcity in economics, 

A) wants will be fully satisfied sometime in the future. 

B) the wants of society cannot be satisfied by the goods and services that can be produced from given resources. 

C) there are no free goods. 

D) free goods and scarce goods are the same. 

E) All of the above. 

Answer: B 


10)
An example of a free good is 

A) a crowded free medical clinic in an inner city. 

B) food stamps (which give recipients free food). 

C) landing and take-off rights at most major airports. 

D) sand in the Sahara Desert. 

E) All of the above. 

Answer: D 


11)
Which of the following correctly completes this statement? Goods are free goods 

A) when they have a zero price. 

B) if the amount people want is less than the amount supplied at a zero price. 

C) if they are provided by nature. 

D) when the government gives them away. 

E) if the amount supplied is less than the amount demanded at a zero price. 

Answer: B 


12)
Scarcity exists because of 

A) unlimited wants. 

B) limited land, labor, and capital resources. 

C) the capitalist system. 

D) market resource allocation. 

E) the combination of (a) and (b). 

Answer: E 


13)
The production-possibilities frontier 

A) shows that unemployment does not exist. 

B) can be used to illustrate the trade-off between producing private goods and government goods. 

C) never shifts. 

D) shifts down or to the left if more resources become available. 

E) assumes that consumer preferences don't change. 

Answer: B 


14)
Opportunity cost is best defined as 

A) how much money is paid for something. 

B) how much money is paid for something, taking inflation into account. 

C) the highest valued alternative that is sacrificed in making a choice. 

D) all the alternatives that are sacrificed in making a choice. 

Answer: C 


15)
The most basic concept upon which the science of economics rests is 

A) money. 

B) scarcity. 

C) markets. 

D) prices. 

E) free (unregulated) markets. 

Answer: B 


16)
A good is free whenever 

A) it is a public good with no charge attached. 

B) its price is always stable at zero. 

C) the quantity people would desire if it were given away is less than the quantity available. 

D) the good fails to meet public needs. 

E) it is available to all potential customers. 

Answer: C 


17)
Goods are scarce if and only if 

A) they have a high price. 

B) they have a low price. 

C) the amount people want exceeds the amount supplied at a zero price. 

D) the government interferes with the market. 

E) they are allocated to those consumers willing to pay the most for the good. 

Answer: C 


18)
If the supplies of land, labor, and capital were unlimited, 

A) scarcity would still be present. 

B) the production-possibilities frontier would not change. 

C) scarcity would no longer be present. 

D) consumer goods would still be rationed. 

E) capital goods, but not consumer goods, would still be rationed. 

Answer: C 


19)
The "what" problem in economics is concerned with 

A) the choice of what goods to produce. 

B) the choice of consumption today versus consumption tomorrow. 

C) the choice of public or private goods. 

D) the choice of guns or butter. 

E) All of the above. 

Answer: E 


20)
The factors of production are 

A) the price system. 

B) land, labor, capital and entrepreneurship. 

C) labor and capital (not land, which is fixed). 

D) capital, land, and labor. 

Answer: B 


21)
Your car cost $20,000 new, and its current market value is $9,000. If your dollar costs of operation (gas, oil, maintenance, depreciation) are $2,000 per year, then your yearly opportunity costs are 

A) zero because you own the car. 

B) at least $2,000. 

C) $20,000. 

D) less than $2,000 because you can sell the car at any time. 

E) $9,000, because that is the current market price. 

Answer: B 


22)
The production-possibilities frontier between ale and bread will shift upward if 

A) more ale is produced. 

B) less ale is produced. 

C) more bread is produced. 

D) less bread is produced. 

E) None of the above. 

Answer: E 


23)
The production-possibilities frontier 

A) illustrates the fundamental law of scarcity. 

B) shows the maximum combinations of goods that can be produced from the resources and technology available to the society. 

C) shows that if resources are being used efficiently society cannot produce more of one good without producing less of another good. 

D) illustrates that opportunity cost increases as more of a good is produced 

E) All of the above. 

Answer: E 


24)
"Should Coca-Cola be sweetened with cane sugar or corn syrup?" This question is an example of which economic question? 

A) The how question. 

B) The for whom question. 

C) The what question. 

D) The fairness question. 

E) The ceteris paribus question. 

Answer: A 


25)
People must make choices because 

A) most people enjoy shopping. 

B) there are many goods available. 

C) the law of scarcity prevails. 

D) the production-possibilities frontier is upward-sloping. 

E) there are unlimited resources available for production. 

Answer: C 


26)
The problem of scarcity can be dealt with by 

A) rationing by price. 

B) rationing by administrative decisions. 

C) letting people simply fight for the available resources. 

D) letting the people vote on who should get the resources. 

E) All of the above methods. 

Answer: E 


27)
In economics, the term "capital" refers to 

A) the money in one's pocket. 

B) plants, equipment, and inventories. 

C) mineral resources. 

D) consumer goods. 

Answer: B 


28)
Which of the following is correct? Macroeconomics studies 

A) the price of steel. 

B) the relationship between inflation and interest rates. 

C) the number of autos produced in one year. 

D) the determinants of wheat production. 

E) the market for medical services. 

Answer: B 


29)
The production-possibilities frontier will shift upward if 

A) more labor, land, or capital becomes available. 

B) more consumer goods are produced. 

C) unemployment is reduced. 

D) the law of diminishing returns operates. 

E) unemployment is increased. 

Answer: A 


30)
The production-possibilities frontier 

A) illustrates scarcity. 

B) illustrates why choice is necessary. 

C) gives the maximum output of one good given the production of another good. 

D) illustrates the concept of opportunity costs. 

E) All of the above. 

Answer: E 


31)
If an economy is not on its production-possibilities frontier, it is 

A) efficient. 

B) choosing the wrong product. 

C) wasting resources. 

D) utilizing resources efficiently. 

E) lacking in essential resources. 

Answer: C 


32)
Which of the following correctly completes this statement? Allocation of scarce resources 

A) can take place in markets. 

B) can be done by administrative orders. 

C) is required to answer the what problem. 

D) is required to answer the how problem. 

E) All of the above. 

Answer: E 


33)
The economic reason that the production-possibilities frontier is bowed out is 

A) that there are opportunity costs of foregone wheat involved in increasing the production of tanks. 

B) that society has to choose. 

C) scarcity. 

D) the law of increasing costs. 

E) All of the above. 

Answer: D 


34)
The production-possibilities frontier slopes downward because 

A) when scarce resources are used efficiently, to produce more of one good means less of another good can be produced. 

B) of economic inefficiency. 

C) resources are usually wasted in any economy. 

D) the division of labor is limited by the extent of the market. 

E) money isn't everything. 

Answer: A 


35)
The three questions in the economic problem are 

A) What? When? How? 

B) Who? What? Where? 

C) What? Where? Why? 

D) What? How? For Whom? 

E) For Whom? When? Where? 

Answer: D 


36)
Microeconomics is the study of 

A) how households spend their limited income. 

B) how business firms make choices. 

C) how prices are determined in markets. 

D) how people decide how many hours to work. 

E) All of the above. 

Answer: E 


37)
Macroeconomics is converging with microeconomics because 

A) macroeconomic relationships depend on microeconomic behavior. 

B) macroeconomics studies total output. 

C) government deficits and unemployment go together. 

D) inflation means a general increase in prices. 

E) microeconomic theories are easily testable whereas macroeconomic theories are difficult to test. 

Answer: A 


38)
Microeconomics is the study of 

A) the economy as a whole. 

B) the behavior of households as consumers and business as producers. 

C) the behavior of variables such as GDP and the rate of inflation. 

D) the behavior of inflation and unemployment. 

Answer: B 


39)
From the viewpoint of society, if there are empty seats, the opportunity cost of allowing one more person to see a Los Angeles Lakers basketball game at The Staples Center is 

A) the Lakers' profit from one more ticket sold. 

B) the price of a ticket. 

C) $0. 

D) greater than the price of a ticket. 

E) $3.00. 

Answer: C 


40)
A self-employed photographer earns $50,000 per year. This person would earn $35,000 per year by working at a local photography studio. He owns the studio where he now works but it would return $10,000 per year if it were rented to someone else. An economist would argue that the opportunity cost of being self-employed is 

A) $0. 

B) $10,000. 

C) $5,000. 

D) $50,000. 

E) $15,000. 

Answer: A 


41)
Although tickets to the Rams/Vikings NFC Championship game had a face value of roughly $50, numerous ticket holders willingly sold their tickets for $200 (and up). Consider $200 as the maximum price obtained for a ticket. Excluding other expenses, an economist would say the opportunity cost of attending the game was 

A) $50. 

B) $150. 

C) between $150 and $200. 

D) $200. 

E) more than $200. 

Answer: D 


42)
The most complete definition of an economic system includes 

A) incentives, opportunity costs and markets. 

B) resource allocation arrangements, property rights and incentives. 

C) property rights and scarcity. 

D) the laws of supply and demand, the principle of substitution and self-interest. 

E) choice and the law of diminishing returns. 

Answer: B 


43)
The allocation of resources in a socialist economy is guided by 

A) the principle of substitution. 

B) prices in the market. 

C) economic incentives. 

D) available resources. 

E) state planning. 

Answer: A 


44)
By scarcity, economists mean that 

A) you can't always get what you want. 

B) you can't have your cake and eat it too. 

C) beggars can't be choosers. 

D) poverty is the root of all evil. 

E) the jack of all trades is the master of none. 

Answer: A 


45)
Which of the following correctly completes this statement? Allocation of society's resources can be accomplished by a variety of means, for example, 

A) auctioning broadcast frequencies. 

B) assignment of airport landing slots by airport management. 

C) lotteries for cellular telephone franchises. 

D) allocation of human organs, by the price system. 

E) All of the above. 

Answer: E 

Figure 1-1
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46)
Which of the following correctly explains the shift in the production frontier shown above? 

A) Society uses its resources more efficiently. 

B) Advancements in computer technology allow the automation of many production tasks in most industries. 

C) New combustion processes result in the development of more efficient jet engines. 

D) Advancements in biotechnology result in a genetically superior dairy cow. 

Answer: D 

Figure 1-2
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47)
Which of the following correctly explains the shift in the production frontier shown above? 

A) Improvements in pipeline efficiency resulting from better pumps. 

B) The development of better design processes for computer chips that speed up the design cycle. 

C) Society reallocates resources between the production of these two goods. 

D) The availability of fax machines that can transmit printed information within minutes. 

Answer: A 

Figure 1-3
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48)
Which of the following correctly explains the shift in the production frontier shown above? 

A) New machines for shoe manufacturing that significantly reduce wasted materials. 

B) Improvements in book binding materials that allow more books to be bound per hour on existing machinery. 

C) Textbook companies implement procedures for authors to submit electronic manuscripts and significantly shorten the composition process. 

D) Improvements in computer networking that allow large companies to manage their regional offices more efficiently. 

Answer: D 


49)
Capitalism is a system in which 

A) property is owned primarily by private individuals. 

B) economic decisions are made by administrative decree. 

C) wealth is distributed by the government. 

D) wealth is evenly distributed. 

E) money is used. 

Answer: A 
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